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WA has 6 players, John Fedec, Dennis Holland, Richard Lilly, Marc Vliestra, Mat and Eduardo Garcia, competing in the Australian Open Championship being held at Tuggeranong, ACT. John, Marc and Mat, together with Yita Choong, are also competing in the Open Major. Leaders after 5 rounds are Ian Rogers and Zhoa Zong-Yuan on 4.5/5.  Here is a position from Marc Vliestra’s first round game with New Zealander Hilton Bennett, Dunst Opening 1 e4, d5  2 Nc3, dxe  3 Nxe4, Nbd7  4 Bc4, Ngf6  (4…c6 is better).  How does White win material (5 moves)?
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‘Out with the old and in with the new,’ is the traditional catch cry for the start of the year and today’s game features a relatively unknown defeating an established top player.  The setting is the recently completed Russian championship which was dominated by the younger brigade with 21 year old Evgeny Alekseev defeating 23 year old Dmitri Jakovenko in a play-off after they finished equal first on 7.5/11.  Defending champion Sergei Rublevsky was surprisingly beaten by 19 year old Ian Nepomniachtchi (now there’s a tongue-twisting name to manage!)


NEPOMNIACHTCHI   -   RUBLEVSKY



2006 Russian Championship



Sicilian Defence



 1     e4  
c5  


 2     Nf3  
e6



 3     d4  
cxd 


 4     Nxd4 
a6



 5     Nc3  
Qc7  


 6     Qf3
Nf6



 7     Bg5  
Qe5  


 8     Be3  
Bb4



 9     0-0-0!
Bxc3  


10    bxc3  
0-0(a)


11    Bd3  
d6  


12    Nb3  
d5(b)


13    exd 
exd 


14    h3  
Nc6



15    Bf4  
Qe7  


16    Bg5  
Be6



17    Qg3 
Rfe8 


18    Kb1  
a5



19    Rhe1  
a4  


20    Nc5! 
Ra5(c)


21    Nd7!! 
Nh5(d)  

22    Bxe7  
Nxg3



23    Bb4 
Ra7(e) 


24    Bc5  
Ra5



25    Bb4 
Ra7 


26    Nc5  
Nh5



27    Bb5!(f) 
Nf4 


28    g3  
Nxh3



29    f4(g)  
Raa8 


30    Nxb7 
Rec8



31    Nd6 
Nf2(h)  

32    Nxc8  
Rxc8(i)


33    Rd2  
Ne4 


34    Rxe4! 
dxe4



35    Bxc6  
e3  


36    Rd4  
e2



37    c4   
Rb8  


38    Kc1(j) 
resigns
a) 10…Qxe4  11 Qg3, 0-0  12 Bd3, Qg4  13 Qd6 leaves Black tied up and undeveloped while 10…Nxe4? loses a piece to 11 Bf4, Qd5  12 c4.
b) 12…Qxc3 leads to a fierce White attack eg 13 Bd4, Qb4  14 Bxf6, gxf6  15 Rhe1, Nd7  16 Re3, Re8  17 Qh5.

c) 20…Qxc5 leads to a dominating White position after 21 Bxf6, Qf8  22 Qh4, g6  23 f4 while if 20…h6  21 Bxh6! Nh5  22 Qf3, Qxc5  23 Qxh5, gxh6  24 Qxh6 gives White a winning attack.

d) Other moves are worse – 21…Ne4  22 Rxe4! Qxd7  23 Bf6, g6  24 Rh4, d4  25 Rxh7! & wins: 21…Qxd7  22 Bxf6, g6  23 Qf4 with mate to follow. 
e) If 23…Nxb4  24 cxb4, Ra7  25 Rxe6! fxe6  26 fxg3 wins.

f) With multiple threats - 28 Nxb7 28 c4 and 28 Rxd5.

g) Threat 30 f5 and if 29…Nf2  30 Rxd5!

h) Loses though the alternative 31…Rc7  32 f5, Bd7  33 Rxd5 is little better.

i) If 32…Nxb4  33 Ne7+, Kf8  34 cxb4, Nxd1  35 Nxd5! winning or 32…Nxd1  33 Bxc6, Rxc8  34 Bxa4, Nf2  (34…Nxc3+  35 Bxc3, Rxc3  36 f5! wins or 34…Bg4  35 Kc1, Nf2  36 Bb3) 35 f5! Bxf5  36 Rf1 wins.

j) Retaining his extra piece – 38…Rxb4?  39 Rd8#.

SOLUTION:  5 Bxf7+!  Kxf7  6 Ng5+, Kg8  7 Ne6, Qe8  8 Nxc7, Qd8  9 Nxa8.  Marc coolly overcame Black’s subsequent sacrificial attempts to mate his exposed king to register a fine win.
